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QUESTION 1

The data type used in your mapping program has been structurally modified (for example, the parent name or the
namespace has been changed). What is the next step you have to perform?

A. Adjust mappings using the data.

B. Reload test messages.

C. Adjust the structure of the inconsistencies in the data type.
D. Map original nodes to new nodes using drag and drop.

Correct Answer: A

QUESTION 2

What is the correct cardinality when using multi-mapping (target message structure >1) in an integration scenario
without ccBPM?

A.n:m
B.n:1
C.11
D. 1:n

Correct Answer: D

QUESTION 3

You are working on a dual-stack system and want to configure an integration scenario with one sender and two
receivers. Each receiver uses two different service interfaces. The WS adapter is used for each receiver. The sender
provides an IDoc from an ABAP system.

How many sender agreements do you have to configure?

A.0

B.1

C.3

D.2

Correct Answer: A

QUESTION 4
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You have selected the delivery mode Without Buffering for your integration process.

What do you have to consider in order to avoid the process type-specific queue going into a SYSFAIL state?

A. You have to use configurable parameters in order to specify the queue name.

B. You have to enable correlation for the integration process.

C. The process instance cannot use correlations to collect messages from different communication components.

D. The process instance must provide an open receive step when the message is handed over to the Business Process
Engine.

Correct Answer: D

QUESTION 5

You are running an SAP NetWeaver dual-stack system (ABAP + Java).

Which of the following adapters are implemented on both stacks? (Choose two)
A. IDoc

B. WS-RM

C.HTTP

D. SOAP

Correct Answer: AC
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